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Reading Comprehension (2)

Text 7: On top of the world

Multiple Choice Test: Tick (v') the right answer.

What is the weather like?
a. It's the perfect day.
b. It's raining.
c. It's cloudy.

How many boroughs does NYC have?
a. three
b. six
c. five

What is the abbreviation for the Em-
pire State Building?

a. SEB

b. ESB

c. EBS

How much did it cost to build the Em-
pire State building?

a. $ 41 million

b. It took one year and 45 days

c. They started in 1930

True or false? Tick (v') whether the statements are true (T) or false (F).

statement T|F

The Empire State Building is 1454 feet (= 443.2 meters) high.

This height covers the tenth up to the top floor.

It is open all over the year.

A 13-year-old needs to pay $ 20 to get in.

Match the beginnings on the left with the endings on the right according to

the text.

Caitlin wants to take

But Ryan wants to

The view from the

Ryan is happy to

take the stairs.

observatory platform is great.

have come to the ESB.

the elevators to get to the top of the
ESB.

W-Questions: Answer the following questions, please.

Who are the people in the text?

What do they do?

How long does it take to get up to the top using the lift?
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